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3.7 VOC

VOC i (ppmC)

o )
2000 @ b AT L—E5fE 107 1E
1850ppmC
M Y BT o T I -
1500 / Hids s —>5[ElER(2.4g/sec)
2. 9 \> AZE U REZE ¥ 3[BIER(2.4g/ sec)
1000 SR T —SEEEEE
(2.4g/sec)
500
BF &l (Time)

150 180 210 240 270 300



VOC

3.8




VOC

3.9




VOC

3.10




3.11 VOC
1 2 3 4 5
30 | 20 | 30 | 20 | 20 24 /1
::-'!
1 2 3 4
2 5 5 5 4.2 /1




22

o 100
o VOC VOC
o
o
SO (S
BEIE S o
(WpFED o
o

UV B SR SRR 4 I 1 5 MR )

- PRI AR A ORI 2Bl 2R )

- PR S PR R A (N )

A VR R A o = T D OB )
23 (



O O




4.2 ooo

VOC | 100ppm || 100ppn}/J 1000/Eglj 2000ppm | DR

00
00
0 00000000000 0ooooog,0 0oooo 00000000 oooooo 0000000000 0000000000
O 2000 [mo0 0] 00,000,0 10|Z|[mDIZIIZI] 0000 O O 0000 0 100[mo00] iooooooo, 00000000
200 [meO O] oooooo00 000,000,0 ,000,000,0
10000 [mo& 0] 320 [m°00] 40[m°00]
0 0 O [7160kw/0 ] T f IL l l B!
(G [ [ L] |
| 0 0 0 [230m3/0 ] |E E E [ ( i [
| LPG [24000kg/0] ] ! ¥
vy 0O
v 000 Do
C/SO 2[m/min ooo === c ooo
[ ] Vv 1200 x 1000 W= S M_ 1400 x 2000
N — > u - — >
ooo 0 O
0000000000000 |:|‘ ’|:| : (jpoooo 0 0
OO0 | EE T
000 ooooo
0 00 600Lx 900Wx 1200H |DDDDDDDDDDDDDDD25UDDDDDDlSp | ooo
0 0 0 O O 200[mz/hr]
0 000035000 m?/0 0 S~ —
\ 4
000000 176[m¥0] ooooOoO ooooo oo ooooooo ooooo
00000000 20[m3/0] oooo oooo ooooooo 5[m3/0 ] 2[m3¥0]
0000000000 O 22[m¥0 ] 1[m¥/0 ] 5[m3/0]
v
\ 4 v v v
000000000000 oooo ooooooo 0 0 000 000000 O 0 0000 O 00000 0oooo0o0000 0 000000
oooo 3[m30] 0o0O0O0Ooooo 00000000000000 oooooooo oooo
4[m3/0] 0.5[m3/0] 0.5[m3/0 ] 0000000 0.1[m3/0]
1m0
000000000
ooooo

3[m3/0 ] (



4.3




4.4

[ 1]
10ma CcOo2 20 VOC 12 VOC 5.2 VOC VOC VOC 0.3 VOC 3500
10ms3 NOX 0.02 0.5 0.1 2 CO 60 CO 27000
NOX 0.04 NOX 18.7
kg/hr CO2 60 264
NOX 0.04
0.5 8 360
3 0.5
m3/hr 1.0
2.0
3 2 5
2 750 / 800
m3/ 2
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20 4 55 55 0.5 0.5 6 1 7600
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2 0.1 0.1 390
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20 10 10 10000
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30 10 30 15
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